~ HYDRAULIC FITTINGS =

vt L MM, Hycraolics

JIC FITTINGS CONT'D

e 90° SWEPT
JIC FEMALE 37° CONE gogs  JIC FEMALE 37° CONE 8085
PART NUMBER HOSE ID THREAD EARTINUMEER HOSE ID THREAD
o o 2116 3IC IP-0951-04-04 14 7116 3IC
1P-1001-04-06 14 9/16" JIC TSRS var 9/16" JiC
1P-1001-06-06 38" 9/16" JIC IO 818" 9/16" JIC =
1P-1001-06-08 38 34" 31C TSRS s/ 3/4" JIc (]
1P-1001-08-08 12 34" 3IC T vz 3/ J1c =
1P-1001-08-10 12 718" JiIC TSI 12 7/8" JIC
1P-1001-10-10 58" 718" 3IC TSI 58 718" JIC
1P-1001-12-12 34" 11/16" JIC IR s 116" JiC
1P-1001-16-16 1 15/16" JIC 0951216216 v 15/16"JiC
FLANGES
New New
STRAIGHT 90° SWEPT
SAE 3000 PSI 8085  SAE 3000 PSI 8085
PART NUMBER HOSE ID SIZE PART NUMBER HOSE ID SIZE
IP-1260-08-08 12" 1/2" SAE IP-1060-08-08 112" 112" SAE
IP-1260-12-12 304" 314" SAE IP-1060-12-12 314" 3/4" SAE
IP-1260-16-16 1 1" SAE IP-1060-16-16 1 1" SAE
IP-1260-20-20 114 11/4" SAE IP-1060-20-20 14 11/4" SAE
IP-1260-24-24 112" 11/2" SAE IP-1060-24-24 112" 11/2" SAE
IP-1260-32-32 2 2" SAE IP-1060-32-32 2 2" SAE
New New
45° SWEPT SPLIT FLANGE CLAMP
SAE 3000 PSI 8085  SAE 3000 PSI 8085
PART NUMBER HOSE ID SIZE PART NUMBER SIZE
IP-1160-08-08 112" 112" SAE IP-S003-08 112" SAE
IP-1160-12-12 34" 3/4" SAE IP-S003-12 314" SAE
IP-1160-16-16 1 1" SAE IP-S003-16 1" SAE
IP-1160-20-20 114" 11/4" SAE 1P-S003-20 11/4" SAE
IP-1160-24-24 112" 11/2" SAE IP-S003-24 11/2" SAE
IP-1160-32-32 2 2" SAE IP-S003-32 2" SAE
New
New
BOLT FOR SPLIT FLANGE CLAMPS
SOCKET CAP SCREW & SPLIT RING 8085 FLANGE SEAL 8085
PART NUMBER SIZE PART NUMBER SIZE
IP-CAPHEAD-M8X30 M8 x 30 IP-YBBS21090 112" SAE
IP-CAPHEAD-M10X30 M10 x 30 IP-YBBS21490 314" SAE
IP-CAPHEAD-M10X35 M10 x 35 IP-YBBS21990 1" SAE
IP-CAPHEAD-M12X45 M12 x 45 IP-YBBS22290 11/4" SAE
IP-CAPHEAD-M14X45 M14 x 45 IP-YBBS22590 11/2" SAE
IP-CAPHEAD-M16X50 M16 x 50 IP-YBBS23790 2" SAE
IP-CAPHEAD-M20X70 M20 x 70

Please note: 4 required per split flange clamp ‘,
Recommended

SAE 6000 psi flanges available on request. Please contact your distributor for further information.




